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(f8) BEOXND Q=Av = Ao,

A = de = Z><o.102 =0.00785m"

A, = %dj = %><o.152 =0.0177m’
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leg - (6.37°-2.82) +2.= 4,66 [m]
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_ Az \/2( P — pz) 3.20)"
Ty s o

P+ pgh=p, +pgh— p, - p, =gh(p'-p)
=9.8x0.25x(13.6x10° -10°) =30.9x10° Pa

A = %x 0.3 =0.0707m?,

A, = %x 0.1 =0.00785m?,c = 0.990
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0 = 0.990 0.00785 ’ \/ 2%30.9x10
7)

/1-(0.007850.070 10°
=0.0615[m®/s]=61.5[L/s]
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KA 1.40mmAg DIEHEZFXELT-,
CDEZEDRIEZTRKD K, =1L,

ZERNDZEE(LL1.20kg/m® &9 5,

Ag —7K (Aqua ) : KR/ A—4
Hg —/KER : KEEX </ A—~A

B3R RIETOEBER

32




[##]

e \/Z(pl— P) (320
Jo,

IKDEE p, =10°kg/ m*, BEXDEE p=1.2kg/ m°,

h=1.4mm=1.4x10"3m, k =0.98
P, +pgh=p, +p,gh— p,— p, =gh(p, — p)
=9.8x1.4x107° x(10° —-1.2) =13.7 Pa

u=0.98x \/ lelj'? — 4.68[m/s]
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EX M
(#2) D=20 mm

p2=0
f=soN_ B, (J';fdi)
A=7x0.022/4=3.14x10" m? i
p,=f/A=50/3.14x10"* =0.159x10° Pa
p1+012 +2, = p2+022 +7
/9 29 pg 29
v, =0, p,=0(K&[E),z, =2, CKKF)EKATDHE
PV e 2n EN e EE
P9 29 p

v, =+2p, 1 p =2x0.159x10° /10° =17.8[m/s]
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